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Paired t-test: p-value = 2.3e-12
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Paired t-test: p—value = 1.3e-06
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Paired t-test: p-value = 6e-13
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Paired t-test: p—value = 0.91
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Paired t-test: p-value = 7.3e-18
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Paired t-test: p-value = 1.5e-15
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Paired t-test: p—value = 0.00039
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Paired t-test: p—value = 0.00076
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Paired t-test: p—value = 0.76
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Paired t-test: p—value = 4.7e-06
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Paired t-test: p—value = 7.2e-06
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Paired t-test: p-value = 5.2e-09
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Tunisia
Paired t-test: p—value = 0.00046
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Paired t-test: p—value = 0.96
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Paired t-test: p—value = 0.83
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Paired t-test: p—value = 9.6e-11
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Paired t-test: p-value = 1.2e-16
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Paired t-test: p-value = 2.2e-13
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Paired t-test: p—value = 0.026
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Paired t-test: p—value = 1.3e-06
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Paired t-test: p—value = 0.44
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Paired t-test: p-value = 2.2e-09
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Paired t-test: p—value = 0.14
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Paired t-test: p-value = 3e-12

= \WHO NMR estimate
IHME NMR estimate

1990 1995 2000 2005 2010

Year

Zambia
Percentage difference between WHO and IHME NMR estimates

1990 1995 2000 2005 2010

Year



Neonatal mortality per 1000 live birth

100 * (IHME.NMR - WHO.NMR) / WHO.NMR

20 30 40 50

10

100

50

-50

-100

Zimbabwe
Paired t-test: p-value = 6.3e-13
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